
1 All identification result of 4 variable DAG with
hidden confounders

The target variable is x4. The treatment variable is x1. The covariates are
x2 and x3. The result was created by the program [1] and manually simplified
further.
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2 All identification result of 3 variables DAG
with hidden confounders

The target variable is Y . The treatment variable is T . The covariate is X. The
result was created by the program [1] and manually simplified further.

Not Identifiable (52)
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3 Reference

[1] https://github.com/herdonyan/CausalIdentification
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